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 NES-101  

CERTIFICATE IN GUIDANCE (CIG) 

Term-End Examination 

December, 2022 

 

 

NES-101 : UNDERSTANDING THE ELEMENTARY 

SCHOOL CHILD 

 

Time : 3 hours Maximum Weightage : 70% 

Note :  All three questions are compulsory. All questions 

carry equal weightage.     

 

1. Answer the following question in about  

1000 words : 

 Discuss the various techniques of observing 

children for better understanding of their 

behaviour that would be helpful for teachers.  

OR 

 Discuss the various social needs and problems of 

an elementary school child and the role of 

teachers.  
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2. Answer the following question in about  

1000 words : 

 Discuss the various developmental dimensions of 

an elementary school child.  

OR 

 Describe the pattern of social and emotional 

development in elementary school children.  

3. Answer any four of the following questions in 

about 250 words each : 

(a) What are the genetically determined factors 

influencing development in children ? 

(b) What do you mean by Anecdotal Record and 

how is it different from Cumulative Record ? 

(c) Explain the mental processes of assimilation 

and accommodation. 

(d) Describe Havighurst’s Developmental Task 

for 6 – 12-year-old children.  

(e) What do you understand by  

multilingualism ? 

(f) Describe the sensori-motor stage of 

development in children.  
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 >EZ.B©.Eg.-101  

_mJ©Xe©Z _| à_mU-nÌ (gr.AmB©.Or.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

EZ.B©.Eg.-101 : àmW{_H$ {dÚmb` H$m ~mbH$ - EH$ 
AÜ``Z 

 

g_` : 3 KÊQ>o  A{YH$V_ ^m[aVm : 70% 

ZmoQ> :  g^r VrZm| àíZ A{Zdm`© h¢ & g^r àíZm| H$s ^m[aVm g_mZ  

h¡ & 
 

1. {ZåZ{b{IV àíZ H$m CÎma bJ^J 1000 eãXm| _| Xr{OE :  

 {ejH$m| Ho$ {bE ghm`H$ ~ƒm| H$mo CZHo$ ì`dhma H$s ~ohVa 

g_P Ho$ {bE àojU H$s {d{dY VH$ZrH$m| H$s n[aMMm©  

H$s{OE & 

AWdm 

 àmW{_H$ {dÚmb` Ho$ ~ƒo H$s {d{dY gm_m{OH$ 

Amdí`H$VmAm| Ed§ g_ñ`mAm| Am¡a {ejH$m| H$s ^y{_H$m H$s 

n[aMMm© H$s{OE & 
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2. {ZåZ{b{IV àíZ H$m CÎma bJ^J 1000 eãXm| _| Xr{OE : 

 àmW{_H$ {dÚmb` Ho$ ~ƒo Ho$ {d{dY {dH$mgmË_H$ Am`m_m| 
H$s n[aMMm© H$s{OE & 

AWdm 

 àmW{_H$ {dÚmb` Ho$ ~ƒm| _| gm_m{OH$ Ed§ gm§do{JH$ 
{dH$mg Ho$ g§ê$n (n¡Q>Z©) H$m dU©Z H$s{OE & 

3. {ZåZ{b{IV _| go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J  
250 eãXm| (àË`oH$) _| Xr{OE :   

(H$) ~ƒo _| {dH$mg H$mo à^m{dV H$aZo dmbo AmZwd§{eH$ ê$n 
go {ZYm©[aV H$maH$ H$m¡Z-go h¢ ?  

(I) d¥ÎmmÝV A{^boI (EZoŠS>moQ>b [aH$m°S>©) go Amn Š`m 
g_PVo h¢ ? `h g§M`r A{^boI (Hw$_wbo{Q>d [aH$m°S>©) 
go {H$g àH$ma {^Þ h¡ ? 

(J) AmË_gmËH$aU Am¡a g_m`moOZ H$s _mZ{gH$ à{H«$`mAm| 
H$s ì`m»`m H$s{OE & 

(K) 6 – 12 df© Ho$ ~ƒm| Ho$ {bE h¡drKñQ>© (Havighurst) 

Ho$ {dH$mgmË_H$ H$m`© H$m dU©Z H$s{OE & 

(L>) ~hþ^m{fH$Vm go Amn Š`m g_PVo h¢ ? 

(M>) ~ƒm| _| {dH$mg H$s g§doXr-noer` AdñWm (g|gar-_moQ>a 
ñQ>oO) H$m dU©Z H$s{OE &  


